Year 3 Maths - week beginning 4.5.2020

Graphs Lesson 1

Graphs Lesson 2

Graphs Lesson 3

Graphs Lesson 4

Graphs Lesson 5

Theme Drawing picture graphs Drawing bar graphs Reading bar graphs Reading bar graphs Reading bar graphs
BT Order the numbers game Hit the multiples of 4 game Hit the multiples of 8 game x 8 Level 3 — Multiplication — mixed Level 3 — Multiplication — mixed
fluency (fo | o dering - 0-999 X 4 tables quiz x2,x3,x4,x5,x8,x10 tables quiz x2,x3,x4,x5,x8,x10
aid fluency) QUIZ X£,X3, X4 X9 XS, QUIZ X2, X3, X4, X9, X8, X
Making links: In Year 2, you learnt
to draw and read information
from picture graphs.
Think: Make a tally chart to find Making links: Yesterday you learnt
the total amount of each type of | Making links: Yesterday you Making links: Yesterday you to read bar graphs where the
fruit. learned how to draw a picture learned how to draw a bar graph. | Making links: Yesterday you scale was counting in 5s.
graph. learned how to read and analyse
Think: Look at the bar graph a bar graph where the scale was | Think: Look at the bar graph
Think: Look at the picture graph to | below showing Year 3's favourite | countingin 1s. below showing the number of
show the amount of pets owned ice-cream flavours. The class are pupils who like different fruits.
in a Year 4 class. Now look at the | disagreeing about the results, who | Think: How is the bar graph below | Three pupils are talking about the
Problem/ Look at the different picture bar graph. What similarities and do you think is correcte Can you different to yesterdayse Will it be graph.
activity of | graphs representing the data of differences do you notice? Which | come up with your own questions | harder to read the value or Read what they are saying and
the day the amount of fruit. is the largest group of pets and about the graph? easier? Think about the decide whose statements are all
Two pupils are talking about the the smallest group of pets? statements, do you agree? correcte
graph. See (model below)
Read what they are saying and See (model below) See video clip See (model below) See (model below)
decide who is correct. See video clip See video clip See video clip
Do: Answer the questions about
See (model below) Do: Use the information below to the graph. Do: Answer the questions about Do: Answer the questions about
See video clip draw a bar graph. the graph. the graph.
Do: Use the information below to
draw a picture graph. You can
choose how many pieces of fruit
each picture represents.
I:':‘eec:(o Check the answer sheet below. Check the answer sheet below. Check the answer sheet below. Check the answer sheet below. Check the answer sheet below.

See below for resources to support you to THINK-SEE-DO
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https://www.topmarks.co.uk/ordering-and-sequencing/caterpillar-ordering
https://www.topmarks.co.uk/times-tables/coconut-multiples
https://www.topmarks.co.uk/times-tables/coconut-multiples
https://www.topmarks.co.uk/maths-games/daily10
https://www.topmarks.co.uk/maths-games/daily10
https://vimeo.com/410946328/97faa86596
https://vimeo.com/410949271/8c97786816
https://vimeo.com/410210106/48511db543
https://vimeo.com/410211036/fdf0442e85
https://vimeo.com/409780655/edfab0f88f

DAY 1 RESOURCES:

THINK:

Number of Fruits in the Basket

orangeﬁ

283
pearU
strawberry '

Each stands for one fruit.
Here is a different picture graph to representthe data:

MNumber of Fruits in the Basket

orange @ pear @ strawberry .

Each stands for 2 fruits.

Two pupils are talking about the graph.

Naima says, “The square represents 2 fruits so there are 8 oranges.”
Alex says, “The square represents 2 fruits so there are 9 oranges.”
Who is correct and why?

SEE: Optional video link here

Here is a different picture graph to representthe data:

Number of Fruits in the Basket

Naima is correct
because there are 4
squares and each
square represents 2
fruits.

4 x 2 =8 and there

DO:

This table shows the number of different chocolate bars boughtin a shop.

Look at the table and complete the picture graph below.

Types of chocolate bars Number of chocolate bars bought
Mars Bar 10

Twix 8

Snickers 8

Dairy Milk 2

Number of Different Chocolate Bars in a Shop

Mars Bar Twix Snickers Dairy Milk

You can choose how many chocolate bars each picture stands for.
Deepening challenge: Can you create different picture graphs to show the same information?

are 8 oranges in total.

orange @ pear ,-U_l strawberry .

Each stands for 2 fruits.
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https://vimeo.com/410946328/97faa86596

DAY 2 RESOURCES:

THINK:

Picture graph to show amount of pets owned in a Year 4 class

Rabbit &3&3&3&3
= (DD EHED

Goldfish

Hamster

Each emoji stands for 1 pet.

Bar graph to show amount of pets ownedin a Year 4 class

In a bar graph, we
don't need to count
the number like we do
in the picture graph;
instead we can fell
the number by
reading the 'scale’

This is a 104
‘scale’. 9

number of people

| Goldfish Hamster

There are 4 There are There are
rabbits 8 dogs 11 cats

AQuaIify First Education Trust

SEE: Optional video link here

A similarity between the picture graph and bar graph is that they both represent the same

information.

The difference is that a picture graph uses pictorial objects to show data whereas a bar
graph uses bars and a scale to count the amount.
The largest group of pets are cats because the scale says 11 cats are owned.

The smallest group of pets are rabbits because the scale says 4 rabbits are owned.

Tips for reading a bar graph:

1)  Check the scale on the graph. What does it show?2 On this graph it shows the

number of people who own each type of pet. The scale is counting in 1s.
2) Use aruler to draw a straight line from the top of each bar across to the scale.
3) Read off how many people own each type of pet.

Hint: The tallest bar shows the largest group. There are the most of this type of pet. The

shortest bar shows the smallest group. There are the least of this type of pet.

Bar graph to show amount of pets ownedin a Year 4 class

These cre
Iicats
104

msisa | __——

scale’.
Thersare |
Boogs
There ore 4
rabiots

mber of peoplé,

[ S T

Cat Goldfish Hamster

Number of mini Easter eggs eaten

9
3 8
This table shows the number of mini Easter eggs eaten by each child.
7
Lookat the table and complete the bar  graph below.
6
child number of mini Easter eggs eaten 5
Tom 4
_ 4
Yasmin 5
3
Matthew 3
2
Layla 7
1
Draw a bar graph to show the amount of mini Easter eggs eaten by each child.

Tom Yasmin Matthew

Layla



https://vimeo.com/410949271/8c97786816

DAY 3 RESOURCES:

THINK: DO:
13- Zeynep believes that Strawberry is the Number of Paintings
11 most popular flavour whilst Isla thinks Selected for the Exhibition
s Vanilla is most popular. Who is correcte
. . . . Apple Primary School
9+ Vincent thinks that more children like
8- Strawberry than Chocolate and Mint
7- combined. Is he correct?e Berry Primary School .
11111 l
i Cyril believes that twice as many Carrot Primary School
5 children like Chocolate than children
4| like Toffee. Is he correct?
. Dandelion Primary School
2. What is the difference between how
many children like Mint compared to Grape Primary School
17 Vanillag Lisa thinks the answer is 8.
° | Strawberry | Chocolate | T

SEE: (see optional video clip)
First, using a ruler or a folded piece of paper, work out the value of each bar.

Vanilla = 12, Strawberry = 6, Chocolate = 4, Mint

= 3, Toffee = 2. 11-
Write these down to help you solve the 10-]
questions. 5

a_
Popular means the one that the most people il
like. 12 children prefer Vanilla, and only 6 ::
children prefer Strawberry. Therefore, Isla is i
correct. s
Let’s look at Vincent's problem. 6 children like 1
Strawberry. 4 like Chocolate and 3 like Mint so 4 ° e
+3=7.

6 <7 s0 Vincent is incorrect.

Let’s look at Cyril's problem. 4 children like Chocolate when 2 like Toffee.
4 is twice as many as 2, so Cyril is correct.

‘What is the difference’ can be tricky! You could also say ‘how many more children like’
Vanilla compared to Mint.

12 children prefer Vanilla, whilst 3 children like Mint.

12-3=9

Lisa is incorrect, the difference between the two is 9.

0 2 4 6 8 10 12 14 16
number of paintings

There are missing numbers on the x axis (the ‘number
of paintings’ line). Can you add them in2 How much
is the scale counting in?

How many paintings does Carrot Primary have at the
exhibition?e

Which school has the fewest amount of paintings at
the exhibition?

How many paintings do Apple Primary and Berry
Primary have at the exhibition?

What is the difference between the amount of
paintings Grape Primary has at the exhibition
compared to Carrot Primary?
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https://vimeo.com/410210106/48511db543

DAY 4 RESOURCES:

THINK:
Type of Pastry Sold

doughnut

“»
crolssant

cream puff _

cupcake

ppa g dag g dea el paa 8y e la gl el e lag g
rTrararras [ETTE|TETLETTET e L L Trer|parrtt

0O 5 10 15 20 25 30 35 40 45 50

number of pastries
How is this bar chart different to yesterday?¢
Femi has been baking up a storm this month! He showed this bar
graph to his brother to show what he had baked.

His brother thinks that Femi has baked 40 doughnuts and 35 cupcakes.
He also believes that the item he baked the least of was croissant.

Is Femi's brother correcte

He wants to know how many more cupcakes Femi made than cream
puffs.

SEE:
(see optional video clip here)

The scale of this bar graph is counting in 5s rather than 1s.

Use the lines of the graph to find out how many doughnuts and
cupcakes Femi baked. | can read off how many doughnuts and
cupcakes there are easily. Doughnuts 45 and Cupcakes 35. Femi’s
brother was wrong about the doughnuts.

& e
To find out how many croissants and le;:mt
cream puffs Femi baked, | need to
know what each small increment (or
small line) represents. By drawing a cream puff
line down to the x axis, you can work »
out how much each bar represents. :
cupcake
| thought each of the small lines

could show 1 pastry, so | started at 0
and tried counting 1, 2, 3, 4, 5 as |
pointed to each little line. It worked! As there Lm-o- +
are 5 small lines between 0 and 5, | know that |5 & 20 "25
each small increment represents 1.
| drew a line from the end of the cream puff bar down to the scale.

| can see that there are more than 20 cream puffs so | started at 20 and
counted each smallincrement... 21, 22, 23.

Femi made 23 cream puffs.

| did the same for the croissants. Femi made 19 croissants. Femi did
bake the least croissants.

If Femi baked 35 cupcakes and 23 cream puffs, how many more
cupcakes did he bake?

35-23=12

Femi baked 12 more cupcakes than cream puffs.



https://vimeo.com/410211036/fdf0442e85

DO:
The bar graph shows the amount of children who prefer each food type.

Favourite Food
1040

gs A
g0
8BS 1
a0
?ﬁ 4
70
65 4
number 22 i
of 50
m 4
children 40
35 1
30
25 4
20
_15 s
10
5 4

spaghettl fish sausages salad burger
and and and

chips  mash chips

Which type of food is the most popular?

How many children like salad?

How many children prefer fish and chips?

Do more children like spaghetti or salad? How many more?

Which two food groups do children like the same amount?

Twice as many children like sausages and mash compared to salad. Is this statement correcte Explain your answer.

ounkwnNeE




DAY 5 RESOURCES:

THINK:

Favourite Food

60
50
40
30

20

number of pupils

10

Apples Strawberries Bananas Mango

Three pupils are talking about the graph.

Alex says, “Most of the pupils like strawberries. The smallest number of pupils like mango.”
Margaret says, “14 more pupils like strawberries than like apples. Fewer than 40 pupils like
bananas.”

Zahir says, 38 pupils like bananas. More pupils like apples than like bananas.”

Whose statements are all correct?

SEE: optional video clip here

Alex:
Favourite Food —
Most of the pupils like
50 strawberries.
% 50 The number of pupils
3 40 who like mango is not
| a
o the smallest.
© 30 The smallest number of
g 20 pupils like bananas.
£
c 10
0

Apples  Strawberries Bananas Mango

Alex’s statements are not all correct.

SEE:

Margaret:

Favourite Food

[*)]
o

54

%]
o

40

|

Fewer than 40 pupils like
bananas.

W
o

N
o

number of pupils

iy
o ©

Apples  Strawberries Bananas

54-40=14
14 more pupils like strawberries than like apples.

Margaret’s statements are all correct.
Zahir;
Favourite Food

60

40 =2 50

gg | §40

21| 57
Q

30 -g 20

2 10

0

Apples  Strawberries Bananas

36 pupils like bananas, not 38.
More pupils like apples than like bananas.

Zghir's statements are not all correct.

Mango

Mango



https://vimeo.com/409780655/edfab0f88f

DAY 5 SUPPORT:

SEE:

Tips for reading this bar graph:

1)
2)

3)

15

1010
8

NEFS

This time the scale is counting in 10s. | can read off how many apples there are
easily but to find out how many other fruits there are | need to know what
each small increment (or small line) represents.

At first, | thought each small line might show 1 fruit, so | started at 0 and tried
counting 1, 2, 3, 4, 5 as | pointed to each little line. However, when | had
counted to 5, the scale said 10 so | knew that wasn't right.
| tried counting in 2s instead. This worked! As there are 5 small lines between 0
and 10, | know that each small increment represents 2.
Favourite Food
60
50
% 40
“E 30
g 20
\10
0
Apples Strawberries Bananas Mango
Favourite Food
60
50
B 40
a
© 30
2
§ 20
\m
0

Apples Strawberries Bananas Mango

Favourite Flavours of Ice Cream

100

90

80
= 70
3 60
° 50
B 40
S
2 30

20

10

0
Lemon Vanilla Chocolate Oreo Mint

1. How many children prefer vanilla ice cream?@
2. How many children like oreo ice cream?
3. How many children like lemon and mint ice cream

altogethere

Which flavour do most children prefere

Which flavour do the least children prefer?2

As many children like ............. aslike ..............

.............. more children prefer oreo ice cream than

chocolate ice cream.

8. fewer children prefer oreo ice cream than lemon
ice cream.

9. Twice as many children like ............ AS trereenannnn,

10.How many children were asked their favourite flavour of
ice cream altogether?

No o~




DAY 1 ANSWERS:

This table shows the number of different chocolate bars bought ina shop.

Look at the table and complete the picture graph below.

Types of chocolate bars Number of chocolate bars bought
Mars Bar 10

Twix 8

Snickers 8

Dairy Milk 2

Number of Different Chocolate Barsin a Shop

Number of Different Chocolate Barsin a Shop

Mars Bar

Twix

Snickers Dairy Milk

Mars Bar

Twix

Snickers

Dairy Milk

Each . stands for 1 chocolate bar.

Each . stands for 2 chocolate bars.




DAY 2 ANSWERS:

DAY 3 ANSWERS:

child

number of mini Easter eggs eaten

Tom

4

Yasmin

5

Matthew

3

Layla

7

Number of mini Easter eggs eaten

Tom

Yasmin Matthew Layla

Number of Paintings
Selected for the Exhlbition

Apple Primary School w

Berry Primary School

Carrot Primary School

Dandellon Primary School

Grape Primary School

4 6 8 10 12 14 16
number of palntings

There are missing numbers on the x axis (the ‘number of
paintings’ line). Can you add them in2 How much is the
scale countingine 1,3,5,7,9, 11,13, 15. The scale is
counting in 1s, but only even numbers were written.
How many paintings does Carrot Primary have at the
exhibition? é paintings

Which school has the most amount of paintings at the
exhibition2 Dandelion Primary

How many paintings do Apple Primary and Berry Primary
have at the exhibitione é + 11 = 17 paintings

What is the difference between the amount of paintings
Grape Primary has at the exhibition compared to Carrot
Primary? Grape = 9 and Carrot = 6. 9 — 6 = 3 painfings.




DAY 4 ANSWERS: DAY 5 ANSWERS:

DO: The bar graph shows the amount of children DO:
who prefer each food type. .
R Favourite Flavours of Ice Cream

100
95 100
g0
85 90
80
73 80
'?0_._
65 ‘_2 70

number e - s o

of 50 — — —-— f-

children :g - ] - g 50
35 —
30 —  — 'g 40
25
20 — | —] — _— = 30
15
ol L B ] 20
ad 10

spaghettt  fish sausages salad burger
and and and 0 ) )
chips  mash chips Lemon Vanilla Chocolate Oreo Mint

How many children prefer vanilla ice cream?2 42
1. Which type of food is the most popular? How many children like oreo ice cream? 84

Sausages and mash How many children like lemon and mint ice cream altogether?
2. How many children like salad?¢ 35 136

WN

3. How many children prefer fish and chips? 55 4. Which flavour do most children prefer2 Lemon

4. Do more children like spaghetti or salad? 5. Which flavour do the least children preferg Vanilla
How many more¢ More children like 6. As many children like chocolate ice cream as like mint ice
spaghetti. 60 — 35 = 25. 25 more cream.

5. Which two food groups do children like the 7. 34 more children prefer oreo ice cream than chocolate ice
same amounte Spaghetti and burger and cream.
chips 8. 2 fewer children prefer oreo ice cream than lemon ice cream.

6. Twice as many children like sausages and 9. Twice as many children like oreo ice cream as vanilla ice cream.
mash compared fo salad. Is this statement 10.How many children were asked their favourite flavour of ice
correcte Explain your answer. cream altogetherg 312

The statement is not correct. 35 x2 =70
when 90 children like sausages and mash.
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